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Railway Group D Expected Questions - Reasoning 2018

QUESTION 1
In the following question, select the number

which can be placed at the sign of question
mark (?) from the given alternatives

125 7 | 2| 25
3919|839
98| 6 |4 | ?
a) 23 b)27
c) 35 d)49
QUESTION 2

In the question, a statement is given,
followed by two arguments, | and Il. You
must consider the statement to be true even
if it seems to be at variance from commonly
known facts. You must decide which of the
given arguments, if any, is a strong
argument.

Statement: Should speed breakers be
banned?

Argument I: Yes, data shows that number of
accidents increase after putting the speed
breakers.

Argument Il: No, it teaches fast drivers a
lesson.

a) if only argument | is strong
b) if only argument Il is strong.
c) if both I and Il are strong.

d) if neither | nor Il is strong.

QUESTION 3

A series is given with one term missing.
Select the correct alternative from the given
ones that will complete the series.

B FASTEST WAY TO PREPARE
ol CURRENT AFFAIRS

a)EK  b)DL
c)EJ d)DK
QUESTION 4

Pointing to the photograph, Sunita said,
“This boy is the son of my sister’'s mother - in
- law’s only son’s wife.” How is Sunita related
to the boy?

a) Aunt b) Mother

c) Grandmother d) Can’t be determined

QUESTION 5
Arrange the given words in the sequence in
which they occur in the dictionary.

1. Loathe 2. Living 3. Locate 4. Local 5.
Literate

a) 52143 b) 52134
c) 51234 d) 51243
QUESTION 6

In a row of boys, Atul is seventh from the
start and twenty second from end. How
many boys are there in the row?

a) 27 b) 28
C) 29 d) 30
QUESTION 7

In the following question, select the related
word from the given alternatives.

Cricket : 11 : Volleyball : ?

a)5 b)6
9  d)ll

B GETITON
P> Google Play



s ATTEMPT ALL TESTS
E;\E&fes*boo'(@ ACROSS ALL EXAMS

QUESTION 8

Direction: Below a question is given with
two statements (I) and (I). These statements
may be either independent causes or may be
effects of independent causes or a common
cause. One of these statements may be the
effect of the other statement. Read both the
statements and decide which of the
following answer choice correctly depicts
the relationship between these two
statements.

Statements:

|. The college banned students from using
cell phones inside classrooms.

Il. Many of the students of the college were
found playing with cell phones during
lectures.

a) Statement | is the cause and statement Il is
its effect.

b) Statement Il is the cause and statement |
Is its effect.

c) Both the statements | and Il are
independent causes.

d) Both the statements | and Il are effects of
independent causes.

QUESTION 9

Two positions of a dice are given below.
Identify the face opposite the face showing
Red.

/ Yellow 'Y’e}llr.)=.‘./
White Black =
a) Blue b) White
c)Black d) Cannot be determined
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QUESTION 10

In a certain code language, "RANGE" is
written as "FIQEW" and "ARAGE" is written
as "FIDVF". How is "PRANK" written in that
code language?

a) MQEWV b) LPDVU
c) UVDPL d) VWEQM
QUESTION 11

If 4" day of the month is Tuesday, which day
will fall on the 5" day after the 21t of that
month?

a) Monday b) Tuesday

c) Wednesday d) Thursday

QUESTION 12

Direction: One statement is given followed
by two conclusions/assumptions, | and 1.
You MUST consider the statement to be

true, even if it seems to be at variance from
commonly known facts. You are to decide
which of the given conclusions/assumptions

be drawn from the given statement.

Statement:

The price of vegetables are rising in the
market.

Conclusions:
I. Vegetables are becoming a rare
commodity.

Il. People cannot eat vegetables.

a) Only Conclusion I follows
b) Only Conclusion Il follows
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c) Both the Conclusions | and Il follow
d) Neither Conclusion | nor Il follows

QUESTION 13

A statement is given followed by two
inferences | and Il. You have to consider the
statement to be true even if it seems to be at
variance from commonly known facts. You
have to decide which of the given
inferences, if any, follow from the given
statement?

Statement: Government has announced a
relief package for the flood affected area.

Inferences:

I. Severe flood has occurred in an area.

II. Relief measures have not been taken in
that area before this step taken by the
Government.

a) Only inference | follows

b) Only inference Il follows

c) Both the inferences follow

d) None of the inferences follow

QUESTION 14

At what time between 3 o’clock and 4
o’clock the hands of a clock are together.
a)16- b) 14113

0)15— d)11—
11 19
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QUESTION 15

A series is given with one term missing.
Select the correct alternative from the given
ones that will complete the series.

6, 8, 28, 146, ?

a) 276
c) 1030

b) 588
d) 1254

QUESTION 16
In the following question, select the related
word from the given alternatives.

Hermit : Solitude :: Intruder : ?

a) Police b) Thief
c) Burglar d) Guest
QUESTION 17

In a certain code language, "WILDHORN" is
written as "1133" and "RAPTURE" is written as
"1089". How is "PORTLOUIS" written in that
code language?

a) 1395 b) 1485
c) 1584 d) 1595
QUESTION 18

In the question below is given a statement
followed by two assumptions numbered |
and Il. An assumption is something supposed
or taken for granted. You have to consider
the statement and the following assumptions
and decide which of the assumptions is
implicit in the statement.

Statement: The odd-even traffic system to
fight increased air pollution has received
mixed response from people.
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Assumptions:

l. Air pollution has decreased due to odd-
even system.

Il. Every citizen has welcomed the odd-even
system.

a) Only assumption | is implicit.
b) Only assumption Il is implicit.
c) Neither assumption I nor Il is implicit.
d) Both assumptions | and Il are implicit

QUESTION 19

Four girls Riya, Tina, Niti and Mona are
playing Ludo, Riya is facing south, Mona is
facing east, Niti is facing west and Tina is
sitting left of the Niti.

Who is sitting in front of Tina?

a)Riya  b) Niti
c) Can’t determine d) Mona

QUESTION 20

If Neha says, "Anusha’s father Ramu is the
only son of my father - in - law Manish", then
how is Bindhu, who is the sister of Anusha,
related to Manish?

a) Niece b) Daughter
c) Granddaughter d) Daughter-in-law
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QUESTION 21

From the alternatives, select the word that
cannot be formed using the letters in the
given word.

Given Word: INDUSTRY

a) TURN
c) DUSTER

b) DRY
d) STUDY
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